t2_cayley (TMcPLLwQPrzju-
JUM26WqfAKMgXC5kypvisv)

October 27, 2020

Let rl_tarski : t=>t=-0 be given. Let kl_cayley : 1= be given. Let
kl1_funct_2 : 1=1=-1 be given. Let vl_funct_1: =0 be given. Let vl_funct 2 :
t=-1=-1=>0 be given. Let m1_subset_1 : 1=>1=-0 be given. Let k1_z fmisc_1 : 1=
be given. Let k2_z fmisc_1 : t=1=- be given. Let k1_xboole 0 : v be given. Let
v3_funct_2 : 1=1=1=>0 be given. Assume the following.

VX0.VX1VX2.((vl_funct-l X2)A((vl_funct2
X2 X0 X1)A(ml_subset_1 X2 (kl_zfmisc1 (k2_zfmisc.1 X0 X1)))))=
(((X1 = kl_xboole_ 0)=(X0 = k1_xboole 0))=(X2 € kl1_funct_2 X0 X1))
(1)

Assume the following.

VX0.VX1.(X1 € kl_cayley X0)=((vl_funct-1 X1)A((
vl_funct-2 X1 X0 X0)A((v3_-funct-2 X1 X0 X0)A(ml_subset-1 X1 (kl_zfmisc_-1
(k2_zfmisc.1 X0 X0))))))
(2)

Assume the following.

VXO0VX1.(rl tarski X0 X1)<(VX2.(X2 € X0)= 3)
(X2 € X1))

Theorem 1 VX0.rl tarski (kl_cayley X0) (kl_funct-2 X0 X0).



